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1	Introduction
In this meeting, RAN4 receives a LS from RAN1 on PRS measurement outside the measurement gap [1] and some of the content is copied below. 
		Agreement
For the purpose of determining conditions for measuring the PRS outside of a MG, the expected Rx timing difference between the PRS from the non-serving cell and that from the serving cell is determined by expected RSTD and expected RSTD uncertainty in the assistance data.
Send an LS to request RAN4 study and determine the threshold, which is used to be compared against with the Rx timing difference to determine whether the PRS from the non-serving cell satisfy the condition of PRS measurement outside MG.
· Examples for the threshold: CP length, 50% of the OFDM symbol, 1ms
· Other options can also be considered by RAN4
· Note: the requirement on whether UE needs to calculate the expected Rx time difference and/or compare against the threshold is also a part of the study request





RAN1 now has working assumption on PRS measurement out of gap and wants to confirm with RAN4 the value of the time difference.
This paper discusses the issues listed above and provide our views.
2	Discussions
The RAN1 LS [1] first of all supports PRS measurement out of MG, which is in principle feasible, but subject to different UE capabilities. Also, it depends on whether PRS measurement if of higher priority now or RRM measurement is more important under the situation. Also, PRS from serving cells and PRS from neighbor cells also need to be discussed differently. It’s also worth noted that how the UE determines the priority of DL PRS resources can also be up to several possible ways, for instance based on configuration by the gNBs.
From our point of view, the measurement outside gap can be supported, but under the condition that the Rx timing difference between the PRS from the non-serving cell and that from the serving cell is within a threshold. Looking at the RAN1 options provided in the LS, we think that the CP length can be a good candidate, since currently the CP length is determined to ensure good demodulation performance under typical channel conditions. 
Provide reply LS to RAN1 that the threshold is set to the CP length.
3	Conclusion
Proposal 1: Provide reply LS to RAN1 that the threshold is set to the CP length.
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